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Quiz 2 JLiavl

p IV 188 /V/1I 0d\ @i

p 1NV 1E5/V/I1 allw)] pi

Jlasyl ai allall

dajy 5 (o dajy 3.5 dlglaall daga

Gilda 30 go ddidy 4 gAdiall idgll

dapanll ablayldluwall ablayl  iliill jajc o

d1)2 0.5 go daa 0 1 Jlgual

When adding vector B to vector A geometrically (or graphically)
using the head to tail method, the resultant is drawn from to the

Head of B, head of A ¢ ‘ol 4yl

Head of B, tail of A @ ‘&wndbl

dayax 0.5 go dajy 0.5 2 Jlguull

Jamal walks 1800 m away from home in 30min. He then turns
around and walks back home along the same path, also in

30min. Calculate Jamal's average speed

1m/s ,6aall dilayl

m/s @ wadbl
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daja 0.5 go daja 0.5

3 Jlguull

A ball is hit by the bat so that it travels straight upward with
intinal velocity 29.4 m/s. It takes 2.94 s for the ball to reach its

maximum height. Find the maximum height it reaches (g = 9.8

m/s2

43.21m ,daaall dylayl
4321m @ ‘eendbl
dajy 0.5 go dajy 0.5 4 J1guull

The unit of force in Newton which is equivalent to

2 ;633101 dylayl
Kg. m/s /
2 :dagn dila)
Kg. m/s /
dajy 0.5 go dajy 0.5 5 Jl1guull
Distance is a vector quantity
ha 4 :6331all dilayl
tha @  daan dila)
dajy 0.5 go dajy 0.5 6 Jlguull

The instantaneous velocity of a particle is defined as the limit of the
ratio Ax/At as At approaches zero

wlgn @ :833a0ll dlayl

dlgn L4 idaan dila]

dajy 0.5 go dajy 0.5

7 Jlgull



The age of the Universe is a vector quantity

lha D 83310l dlayl
Llha

| :daan dilal

daja 0.5 go dajy 0.5 8 Jlguul

The work done by gravity on a man standing on a

platform equal to zero.

dlgn 9 :631a0ll dilayl

dlgn 4 dan dila]

da)y 0.5 go dajx 0 9 Jlguull
The gravitational force is considered as a contact force

dlgn €3 :63300ll dilayl

tha | :daian dilal

dap 0.5 go a3 0 10 Jlguull

If the average velocity of an object is zero in some time interval; the
displacement of the object for that interval must be zero

lha €3 83310l dlayl
dign 9 daan dll
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p V-0 1£8+/1/1- 0d\ @i

o VXS 1£5:/1/1: allw)] pi

Jlasyl ai allall

daja5 go dypa 5 dlghall daa

Gildy 30 (jo ddrds 18 LS\.D_CLLQ“ Gdgll
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An object experiences no acceleration. Which of the following

cannot be true for the object

A single force acts on the object @ ©=ell dbyl
A single force acts on the object @ ‘= dbl

One kilowatt-hour (kWh) is the energy transferred in 1 h at the
constant rate of 1 kW =1 000 J/s. The amount of energy
represented by 1 kWh is

360 x 10%) @ 60l &byl

360 x 109 @ duandbl

-
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dajy 0.5 go dajy 0.5 3 Jlguull

Your cat is running around the grass in your back yard. He undergoes
successive displacements 4 m south and 20.0 m west. What is the
resultant displacement

20.39m @ 630l @yl
20.39m @ duvandb]
dajy 0.5 go dajy 0.5 4 J1guull

Force F acts on a body m = 8 Kg initially moving with speed 5
m/s. The force exerts work (W = 300 J) on the body. What is
the final speed

10m/s @ :63a0ll dilayl
10m/s @& dnndlk)
dajy 0.5 go dajy 0.5 5 Jlgudl
The work is vector quantity
tha @ :8310ll &yl
tha @ :dann dl)
dajy 0.5 go dajy 0.5 6 Jlguull

The kinetic friction force acting on a moving care is at the same
direction of the motion
lha 4 :63300ll dilayl
™

dajy 0.5 go dajx 0.5 7 J1guull

The work-kinetic energy theorem relates work to a change in.
the density of an object



ha 4 :633all dilayl
bs @ aaps bl

dajy 0.5 go dajy 0.5 8 Jlguul

The equations of kinematics be used when the velocity of the

object increases with time
ha 4 :6331all dilayl
lha

I daan dilal

dajy 0.5 go dayy 0.5 9 Jlguul

A baseball of mass m is thrown upward with some initial speed. A

gravitational force is exerted on the ball at all points in its motion

algn @ 83310l dlayl

dlgn 4 dan dila)

=

d2)> 0.5 go &y 0.5 10 Jlguull

The kinetic energy of a particle with mass m and moves at a
velocity v can be calculated as m+v

lha @ 83310l dlayl
tha @ :dann dl)

AST p V:XVT: (8 AT (galoa I+ deoall
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o XL 188711 og pi

o XA 1€/ alluy] pi

Jlosyl pi dllall
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Mohammed walks to school with Ahmed and after school walks
back home. If the distance between Mohammed's home and

school is 500m, What is Mohammed’s displacement

om - :8330ll dilayl
om ' daan dily]
daya 0.5 go dajy 0.5 2 Jlguul

A stone is dropped from rest from the top of a bulding and

falls 5 m after 1.0 s. How much farther does it drop in the next

2.0s(g=10m/s?

40m ,eaaall iyl

-

-
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The Cartesian coordinates of a point are given by (-2, y), and its

polar coordinates are (4, 120°). Determine the value of y

3.46 ,6aaall iyl
346 @ (weodbl
dajy 0.5 go dajy 0.5 4 J1guull

An object is thrown upward with a velocity of 15m/s. Find the

maximum height before it return to the ground ( g = 9.8 m/s2
11.47m @ ol abyl
11.47m @ ‘dodbl

d2j2 0.5 go )2 0.5 s Jigual

The unit of weight is Newton and is equivalent to 1 Kg. m/s2

algn @ :83310ll dlayl

dlgn 8 daan dly]

The S.1. units used to measure power is J/s.

algn @ 83310l dlayl

dlgn 4 dan dila)

dajy 0.5 go day 0.5 7 Jlguull

The force is a scalar quantity



ha 4 :633all dilayl

tha @ duan dilal
The y component of the vector ( 10/ -9k ) mis 19m

ha 4 :6331all dilayl

tha @  daan dila)
dajy 0.5 go dajy 0.5 9 Jlguull

In S.1. units, the kinetic energy is measured in units of Joule.

algn @ :63310ll dlayl

dlgn 0 daan dl]

dajy 0.5 go dajnr 0.5 10 Jlguull

Vector A lies in the xy plane. Both of its components will be negative
if it points from the origin into the third quadrant

dlgn @ :83a00ll dilayl
dlgn 4 dann dila)

AST p T¥AXY 185+ JaT galoa I+ deoall
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Quiz 2 Juiayl

p L:0¢ 1£&/V/1E og\ pd

p Vi 188:/V/18 alluyj| pi

Jlosyl pi dllall

daja5 go dypa 5 dlghall daa

Gilda 30 go ddrdr 5 gadiall cidgll

dapanll ablayldluwall ablayl  iliill jajc o

daja 0.5 go dajy 0.5 1 Jlguull

What is the x component of the vector ( 30+ ED:? ~ 10k )ym

3m ,eaaall iyl
3m 1 rdaan dil|
daj2 0.5 o daya 0.5 2 Jlguul

A rescue helicopter hovers above a soldier as in the figure. The
soldier is lifted vertically upwards at a constant speed of 6 m/s.
The tension in the cable is 960 N. Assume that there is no
sideways motion during the lift and air friction is ignored. What
is the power of that helicopter
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80 kg
C760 W @ :6aoll dlayl
5760 W @ duan db|
dajy 0.5 go dajy 0.5 3 Jlgull

If a spring is stretched 0.98 cm by a suspended object having a
mass of 0.20 kg, what is the force constant of the spring

200 N/m @ :B3aall dilayl
200 N/m @ daandl)
dajy 0.5 go dajy 0.5 4 J1guull

A point in the xy plane has Cartesian coordinates (6.00, 10.00)

m. Determine the polar coordinates (r, 6

r=11.66, 6=59° & :dxaall dlayl

r=11.66, 8 =59° o daan dibl

-

daja 0.5 go dajy 0.5 5 J1guull
The acceleration of car is a vector quantity

algn @ :63310ll dlayl

dlgn £ dan dila)



daya 0.5 o dajr 0.5 6 Jlguull

The magnitude of vector A is 8 km, and the magnitude of B is 6 km.
The possible values for the magnitude of A+ Bis 8

wlgn @ :6331all dylal

dlign 4 dan dila)

daj2 0.5 o dayy 0.5 7 Jlguull

A vector lying in the xy plane has components of opposite sign. The
vector must lie in the third quadrant

ha 4 :6331all dilayl

tha @  duan dilal
dajy 0.5 go dajy 0.5 8 Jlguull
The magnetic force is considered as a contact force

lha @ 63310l dylayl

tha @ :duan dilal
dajy 0.5 go dajy 0.5 9 Jlguull
The S.I. units used to measure power is Henry.

lha @ 63110l dylayl

lha @ :dapn dila)
dajy 0.5 go dajy 0.5 10 Jlguull

The work done by a constant force F through the displacement
Ar is maximum when F is parallel to Ar

dlgn 4 :6310ll dilayl
dlign 4 dann dila]
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Quiz 2 JLiavl

o Ll 18£:/V/1 oga pi

p I8 166/ alluy] pi

Jlosyl o dllall

daja 5 go dajy 4.5 dlglaall daja

Gilda 30 (o dérdn 2 wadioll adgll

dapanll ablayldluwall ablayl  iliill jajc o

d1)2 0.5 go daa 0 1 Jlgual
The potential energy of an object is given as % mv2.

dlgn € :6331all dlayl

tha @ :dann dl)

-

daya 0.5 go dayr 0.5 2 Jlgudl

Three displacements are A = 200 m, due south; B = 250 m, due west; C =
150 m, 30.0° east of north. The following diagram represent the
adding R=B+A+C



https://lms.tu.edu.sa/webapps/blackboard/execute/courseMain?course_id=_169771_1
https://lms.tu.edu.sa/webapps/blackboard/content/listContent.jsp?course_id=_169771_1&content_id=_1066440_1&mode=reset
https://lms.tu.edu.sa/webapps/portal/execute/tabs/tabAction?tab_tab_group_id=_4_1
https://lms.tu.edu.sa/webapps/portal/execute/tabs/tabAction?tab_tab_group_id=_1_1
https://lms.tu.edu.sa/webapps/login/?action=logout

ha 4 :633all dilayl
bs @ aaps bl

dajy 0.5 go dajy 0.5 3 Jlguul

If vectors A - B =0, this means that they have the same magnitude
and same direction

lha @ :63310ll dlayl

ha @ dyan dl)
dajy 0.5 go dajy 0.5 4 J1guull
The Sl unit of kinetic energy is: kg.m/s

lha @ 3300l dilayl

ha @ daan dll
daja 0.5 go dajy 0.5 5 Jlguul

The work—kinetic energy theorem indicates that the speed of a
system increases if the net work done on it is negative

lha @ 63300l dilayl

tha | daan dilal

dajy 0.5 go dayy 0.5 6 Jlguull

An object moves at a constant speed of 7 m/s. This

means that the object moves 7 meter every 1 second.

ulgn @ :63310ll dlayl

dign @ daan il

dayax 0.5 go dajy 0.5 7 Jlguull

A particle undergoes two consecutive displacements



A=GT+5)cm and B=(1071-10))cm

the direction of the displacement is

0=-18.4° @ :oxaall dbyl
6=-184° & :duan di|
dajy 0.5 go dajx 0.5 8 Jlguull

One kilowatt-hour (kWh) is the energy transferred in 1 h at the
constant rate of 1 kW =1 000 J/s. The amount of energy
represented by 1 kWh is

3.60 x 10%) @ sl dlayl
360 x 10°) @ dpodbl
dajy 0.5 go dajy 0.5 9 d'é.l.qu

The Cartesian coordinates of a point are given by (x, 5), and its

polar coordinates are (5, 90°). Determine the value of x

0 ,eaaall dilhyl
0 1 :dann dila|
daj2 0.5 o dayy 0.5 10 Jlguull

Obtain expressions in component form for the position vectors
having the polar coordinates ( 12.8 m, 150°
X=-11m, y=6.4m & 3ol dhyl

X=-11Tm,y=64m & ‘dnndh]

AST p I&¥A 185+ ,uay 1 cull

Gilgo <
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p VA 1E8:/1/1: 0§y pi

o VA 18511 alluy) pi

Jlosyl ai dllall

dajy 5 o dajy 4.5 dlglaall daja

Gildy 30 (jo ddrda 20 wadioll adgll

dapanll ablayldluwall ablayl  iliill jajc o

dajx 0.5 go daja 0.5 1 Jlguul

Vector A lies in the xy plane. Both of its components will be negative
if it points from the origin into the second quadrant

lha @ 63300l dylayl

lha @  daan dl)
d3j2 0.5 go dajy 0.5 2 Jlguul

The value of the force constant k of a spring is a measure of.
the Stiffness of that spring

algn @ :63310l1 dlayl

dlgn 4 dan dila)

dajy 0.5 go dajy 0.5 3 Jlgudl

The S.1. units used to measure power is J/s.
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algn @ :83310ll dlayl

dlgn B4 idaan dila]

dajy 0.5 go dajy 0.5 4 J1guull
The unit of force is Newton and is equivalent to 1 Kg. m/s?

wlgn @ :63310ll dlayl

dign B4 idan dila]

dajy 0.5 go dajy 0.5 5 Jlguull

The work done by a force acting normally (perpendicular) to the
direction of the displacement of the object is zero

dlgn G4 :6331all dilayl

dign 9 daan dll

dajy 0.5 go dajy 0.5 6 Jlguull

The average speed is defined as the total distance travelled

divided by the total time interval required to travel that

distance
ulgn @ 8300l dilayl
dlgn 8 daan dl]
dayax 0.5 go dajy 0.5 7 Jlguull

What is the net force acting on a body of a mass of 48

kg, when its acceleration is 6 m/s2 ?

288N :6saiall &lay

288N ‘dayan dilal



daya 0.5 go dajy 0.5 8 Jlguull

Two persons are pulling a horse as shown in the figure, if the
angles of the two robes are 8; =60%and 8, =45° and the

force F1=20 N, F2=30 N. What is the work done to move the
horse a distance of 10 m

312.13 ) @ Bl &yl

312.13 ) @ dpedhl

dajy 0.5 go dajy 0.5 9 Jlgudl

To determine the height of a bridge above the water, a person
drops a stone and measures the time it takes for it to hit the
water. If the time is 2.3 s, what is the height of the bridge?

(g= 9.8 m/s?)

26 m o Bwalldby

26 m @ daan dila)

d12 0.5 go @ 0 10 Jlguull




A spring of force constant k = 440 N/m is stretched 1.0 cm by a
suspended object having a mass of 1 kg, How much work is
done by the spring as it stretches through this distance

— 0.046 ] € 6300l Ayl

—-0.022) @ dnodbl

AST p Y:YAxT 188 JAT galoa I+ deanll

@algo <
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P 19 1€8+/V/1T oga pi

o LY 1£8+/V/1 alluy] pi

Jlosyl o dllall

daja 5 go dajy 5 dlglaall daja

Gilda 30 (o dérdn 4 wadioll adgll

dapanll ablayldluwall ablayl  iliill jajc o

dajx 0.5 go daja 0.5 1 Jlguul

The acceleration of an object is directly proportional to the force

acting on it
dlgn 4 :6331all dilayl
dign 0 daan dilal
d3j2 0.5 go dajy 0.5 2 Jlguul

70 N force is needed to accelerate a 10 kg object at 7

m/s2

algn @ 633100l d@layl

dign G4 daan dila]

daya 0.5 o dajr 0.5 3 Jlguull
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The magnitude of the acceleration of an object is inversely
proportional to its mass

wlgn @ :63310ll dlayl

dign B4 dan dila]

When the object’s velocity and acceleration are in the same
direction , the object is slowing down
ha 4 :633all dilayl
s

=

dajy 0.5 go dajy 0.5 5 Jlgudl

In case of a TV on a table, the action and reaction forces are in
opposite directions

algn @ 83310l dlayl

dlgn 4 dan dila)

daya 0.5 go dajy 0.5 6 Jlguull

If a train is traveling westward and slowing down, the direction of the
force on the train causes it to slow down must be in eastward

dlgn 9 :63110ll dilayl

dign ©0 danan dila)

dajy 0.5 go dajy 0.5 7 J1guull

How many different vectors are drawn here

e —



2 5 :Banall dlayl

2 . dapn dily)

daya 0.5 go dajy 0.5 8 Jlguull

If 100 N force exerts on a particle of 0.01 Kg, the acceleration in

m/s2 will equal to

10000 . :63310ll dilayl
10000 % :danan dila]
dajy 0.5 go dajy 0.5 9 Jlguull

A man runs around a circular track of radius 100 m. It takes
his 120 s to complete a revolution of the track. If he runs at

constant speed, calculate his instantaneous velocity at point A

52m/s . :63300ll dilayl
5.2m/s @ hwnodbl
dajy 0.5 go dajy 0.5 10 Jlguull

Force F acts on a body m = 8 Kg initially moving with speed 5
m/s. The force exerts work (W = 300 J) on the body. What is
the final speed

10m/s @ :b3a0ll dilayl
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10m/s
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Quiz 2 ;jLiAVl pyadi dealjo
atoall eljio (py yAlle (p jgnio _43902633 AT
SHAT - 2046 - (1) aole chijia quuljall jpdall
Quiz 2 JLiavl
p 9::0 1£6+/1/9 0§y pi
p QNI 185:/1/9 alluyj| pi
Jlosyl o dllall
daja 5 go dajy 4 dlglaall daja
(Gildy 30 go ddudy 15 gndiall adgll
dapnll ablayl dlgedl ablayl Adliill gaje of
dayy 0.5 go dajx 0.5 1 Jlguull

A helicopter of mass 500 Kg is raising up at a constant speed
of 15 m/s. What is the average power delivered by its motor (g

= 9.8m/s2

73500 W @ o3l dlayl

73500W @ dundb)

da)y 0.5 go dajx 0 2 J1guull

The rule for the calculation of power is:

energy / time @ :6xaall dilyyl

work /time @& duandl)

daya 0.5 go dajy 0.5 3 Jlguul
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The vector A has an x component of Ay = 6.0 units. Find the Ay of y
compoenet if the resultant of the vector R = 10 unit

Ay =8 % 16330l byl
Ay =8 D daan dll
dajy 0.5 go dajy 0.5 4 J1guull

A student throws a set of keys vertically upward to her
sorority sister, who is in a window 9 m above. The
second student catches the keys 2 s later. With what
initial velocity were the keys thrown.

13.2m/s 16333001 &yl
13.2m/s :daan dll
dajy 0.5 go dajy 0.5 5 Jlguull

If a car is moving in cricle road, the displaecemnt of the car will be
zero when it back to the same starting point

algn @ 833100l dlayl

dlgn 8 daan dl)

dajy 0.5 go dajy 0.5 6 Jlguul

The work-kinetic energy theorem relates work to a change in.
the direction of the velocity of an object
ha @ 63110l dilayl
lha

daj2 0.5 go dayy 0.5 7 Jlguull



The volume of oil is a scalar quantity

dlgn 4 :6330all dilayl

dlgn L4 dan dila]

If the vector A along the direction of vector B is zero, this means that
they have the same magnitude and same direction

% :6:3300ll @yl

LhA
s @ o bl

=

dajx 0.5 go daja 0 9 Jlguul

The work done by a constant force F through the displacement
Ar is maximum when F is perpendicular to Ar

dlgn €3 :8331all dilayl

ha @ dyan dll
dajy 0.5 go dajy 0.5 10 Jlguull
The S.I. units used to measure power is J/s.

dlgn 9 :6310ll dilayl
dign ©0 danan dila)
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Quiz 2 ;jLiAVl pyadi dealjo

auell 3gay g Ay g alilaie 43906182 pAAiwo
SHAT - 2009 - (1) aole chijia guuljall jdall

Quiz 2 JLiavl

p 1V 1E8 /11 0§\ pi

o 118 1881718 alluyj| pi

Jlasyl ai allall

daja5 go dypa 5 dlghall daa

Gildr 30 (o dddr 6 sAdiall cidgll

dapanll ablayldluwall ablayl  iliill jajc o

dajx 0.5 go daja 0.5 1 Jlguul

If a man weighs 900 N on the Earth, what would he weigh

on Jupiter, where the free-fall acceleration is 25.9 m/s2.
The force:

2378.6 N ;63300 dlayl

2378.6 N rdagan dl)

dayax 0.5 go dajy 0.5 2 Jlguul

What is the z component of the vector ( 97— ?’? ) m

33l @layl

=

Om

:dauan dilal
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om @

3 Jlgull

dajy 0.5 go dajy 0.5

A stone is dropped from rest from the top of a bulding and

falls 5 m after 1.0 s. How much farther does it drop in the next

2.0s (g =10 m/s?

40m ,daaall dylayl
4 Jlgudl

dajy 0.5 go dajy 0.5

Suppose it takes 120s to run in a circular path of radius 100m .

What is your average velocity if you back to the same starting

point
om/s ,eaaaall dlhyl
om/s @ okl
5 Jlgudl

daja 0.5 go dajy 0.5

If you double the net force acting on an object and
double the object's mass, the object's acceleration will
remain unchanged.

algn @ 83310l d@layl

dlgn 4 dan dila)

6 Jlguull

dajy 0.5 go dajy 0.5

The temperature outside the university is a vector quantity

lha @ 63300l @yl



tha | :dalan dila)

=

dajy 0.5 go dajy 0.5 7 J1gudl
The age of the Universe is a vector quantity

ha @ 83110l dilayl
LhA

| :daan dilal

daya 0.5 go dajy 0.5 8 Jlguull

if the acceleration is zero, this means that the velocity is not

constant
Uha 2 63310l dilayl
tha @  :duan dilal
dajy 0.5 go dajn 0.5 9 Jlguull

Decreasing the time you complete the work will increase the

power.
dlgn 9 :63110ll dilayl
dign ©0 daan dila)
d2j2 0.5 o dajx 0.5 10 Jlguull

If the net force exerted on a body equal to zero, it is possible for this
object to be at rest

dlgn 4 :6331all dilayl
dlgn ¢ dann dily)
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Quiz 2 Juiayl

p 9:09 1£5-/1/9 0d\ pi

p 11V 155:/1/9 alluy) pi

Jlosyl ai dllall

daja5 go dypa 5 dlghall daa

Gildy 30 (jo ddrds 18 Lg\.lCLCLLO“ Gdgll

dapanll ablayldluwall ablayl  iliill jajc o

dajy 0.5 go dajy 0.5 1 Jlguull

A cord holds stationary a block of mass m=8.5kgona
frictionless plane that is inclined 6 = 30°, the tension in
the cord T equal to 41.65 N, find its acceleration.

49 m/82 :63310ll dylayl
-4.9 m/s? B Gl
daya 0.5 go dajy 0.5 2 Jlguull

Two persons are pulling a boat as shown in the figure, if the
angles of the two robes are equal to 60° and the force F1=20 N,
F2=30 N. What is the work done to move the boat a distance of
10 m
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250 ) @ :daaoll dbyl

250 @ duandll
dajy 0.5 go dajy 0.5 3 Jlguul
Joules per second (J/s) is the unit of

Power - :éaaaall &yl
Power @ ‘dwodbl
dajy 0.5 go dayy 0.5 4 Jlgudl

One kilowatt-hour (kWh) is the energy transferred in 1 h at the
constant rate of 1 kW =1 000 J/s. The amount of energy
represented by 1 kWh is

360 x 10%) @ 6l &byl

360 x 10% @  dvan dl

daya 0.5 go dayr 0.5 5 Jlgudl

If the displacement is in the oppoiste direction of the force,
then work is positive

lha @ 63300l dilayl

tha | daan dila)

—



dajy 0.5 go dajy 0.5 6 Jlguull
The y component of the vector ( 107 -9k ) mis 19m

% :8333001 dilayl

lha
tha :dagan dila)

=

dajy 0.5 go dajr 0.5 7 Jlguull

When an object is exerted by two equal and opposite forces, the net
force will be zero

wlgn @ :63310ll dylal

dlgn £ dann dil)
dajy 0.5 o dajy 0.5 8 Jlguull

The value of the force constant k of a spring is a measure of.
the diameter of that spring

lha 4 :63300ll dilayl
lha & :dann dilal
da)2 0.5 o daja 0.5 9 Jlguull

The electrical force is considered as a field force

wlgn @ 633100l dlayl

dign B4 idaan dila]

dajx 0.5 (o dajx 0.5 10 Jlguull
The S.1. units used to measure power is Ampere.

lha @ 63110l dylayl
lhy @  duan dlal
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Quiz 2 JLiavl

p X7 1£8:/1/1- 0d\ pi

o XY 1£8:/1/1: alluyj| pi

Jlasyl ai allall

daja 5 go dya 4 dlglhall dajs

Gilda 30 (o dérdy 6 wadioll adgll

dapanll ablayldluwall ablayl  iliill jajc o

dajx 0.5 go daja 0.5 1 Jlguul

The polar coordinates of a point are r =2 m and 6 = 60°. What

are the Cartesian coordinates (x,y) of this point

Xx=1m, y=17m & @30l dhyl

x=Tm,y=17m & dndl]
d1ya 0.5 go dajn 0 2 Jlguudl

The static friction force between tow surfaces depends on

dylayl
:63210ll

the coefficient of static friction &

V] :daan dila)

the normal force and the coefficient static friction

daya 0.5 go dayr 0.5 3 Jlgudl
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How many different vectors are drawn here

\ //\/

g ,6aaall dlayl
5 ' rdaan dila)
daya 0.5 go dajy 0.5 4 Jlgudl

A particle undergoes three consecutive displacements
B=1T-17+6Kcmand C=(Gi-4]-2%cm

A=2T+2]+20em,

the magnitude of the resultant displacement is

10.44cm g el dbyl
10.44cm @ ‘o db)
d2)y 0.5 go )2 0.5 c Jigual

If a car is moving in cricle road, the displaecemnt of the car will be
zero when it back to the same starting point

dlgn 9 :63110ll dilayl

dlgn 0 daan dila)

dajy 0.5 go dajx 0.5 6 Jlguull

The work done by a constant force to move an object a certain
displacement depends only on the mass of the object



ha 4 :633all dilayl
bs @ aaps bl

da)y 0.5 go dajr 0.5 7 Jlguull

The instantaneous velocity of a particle is defined as the limit of the
ratio Ax/At as At approaches zero

algn @ 83310l dlayl

dlgn @ dvan @l

dajy 0.5 go dajy 0.5 8 Jlguull
Scalar quantity has no direction

algn @ :6331all dlal

dlign 4 dann dila]

daja 0.5 go daja 0 9 Jlguull

The equations of kinematic can used only when the acceleration is

Zero
dlgn € :63310ll dilayl
lha @& :dann dilal
dajy 0.5 o dajr 0.5 10 Jlguull

The unit of mass in S.I. is gram

lha @ 63310l dylayl
ha @ :dapnn dila)
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Quiz 2 JLiavl

o 1::0 1£8:/V/1 oga pi

p l:A 188:/V/11 alluy] pi

Jlosyl o dllall

daja 5 go dajy 5 dlglaall daja

Gilda 30 go ddidy 3 gAdiall cidgll
dapnll ablayl,dlwpell ablVl - ALl gaje ol
daja 0.5 go dajy 0.5 1 Jlguull

A weightlifter lifts barbells of 200 newtons above his head to
a height of 2 metres. How much work does he do?
400 joules @ :6xall dilayl

400 joules @ :dvandlhl

dajy 0.5 go dajy 0.5 2 Jl1guull

A block of mass 1 kg is pulled 5 m along a frictionless
horizontal table by a constant 20.0 N force directed 60.0° from
the horizontal as shown in figure. Determine the work done on
the block by the normal force exerted by table
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0) @ :B3aall dlayl

o) , dayan dill

=

The polar coordinates of a point are r =2 m and 6 = 60°. What

are the Cartesian coordinates (x,y) of this point

Xx=1m, y=17m & @30l dlyl

X=1m,y=17m & ‘:dnndhl

daya 0.5 go dajy 0.5 4 Jlgudl

In S.I, the unit of instantaneous velocity is

m/s . :632all dilayl
daya 0.5 go dajy 0.5 5 Jlguul

The average speed has no direction and is always expressed as

a positive number

algn @ 633100l dlayl

dlgn 4 dan dila)



dajy 0.5 go dajy 0.5

The age of the Universe is a vector quantity

lha
lha
da)y 0.5 go dajy 0.5
At rest the kinetic energy is zero
dlgn
dlgn
dajy 0.5 go dajy 0.5
The work is scalar quantity
dlgn
dlgn
dajy 0.5 go dajy 0.5
The wieght of physics book is a vector quantity
dlgn
dlgn
dajy 0.5 go dajy 0.5
The ratings of a TV show is a scalar quantity
dlgn
dlgn

Gilgo <

6 Jlguull

4 :63310ll dilayl

I :daan dilal

7 Jlgull

% 8333001 dilayl

| :dalan dila)

=

8 Jlguull

% 63110l dylayl

| :daan dilal

9 Jlguull

% :6:3300ll Ayl

| :dalan dila)

=

10 Jlguull

4 :6331all dilaMl

| :daan dilal
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